SANTA ROSA COUNTY
ENVIRONMENTAL DEPARTMENT e

RON HIXSON, Environmental Manager

6065 Old Bagdad Highway | Milton, Florida 32583
ronh@santarosa.fl.gov

Memo

To: Tony Gomillion, County Administrator

From: Ronald Hixson, Environmental Manager Q\}X
Thru: Roger Blaylock, P.E., County Engineer F z
Date: September 27,2016

Re: BOMAG LANDFILL COMPACTOR REPAIRS (#1134)

Discussion:
The Bomag Landfill Compactor (#1134) utilized to compact Class Il waste at Central Landfill has suffered an equipment

failure and is currently down for repair. This machine has just over 10,000 hours on its meter. Staff has begun running
the backup Bomag Compactor (#1094), this machine has over 20,000 hours on its meter and has the potential to break

down at any time due to high hours.

Finding:
The lower articulated joint that joins the front and rear parts of the machine has lost its bearings and seals. This repair

will be time consuming as the equipment must be completely broken apart and reassembled to complete the repair.
Attached is a depiction and a quote in the amount of $10,115.59 from Beard Equipment Co. for the parts that need to be
ordered to complete the repair, Beard Equipment is the only dealer in the area that distributes Bomag parts, therefore

comparison shopping was not performed.

The hinging mechanisms {central block and console, depicted in the attached figure) will also need to be machined so
the new bearings and seals will fit properly. Chavers Machine has submitted a quote to perform this task in the amount
of $6,000.00. Chavers machine is the only local machine shop that has the capability to perform this task. The landfill
diesel mechanics will be able to perform the remainder of the repair.

Actions to be Considered:
That the SRC BOCC approve the purchase of the parts described above from Beard Equipment ($10,115.59), and the

machining to be performed by Chavers Machine ($6,000.00) for a total of $16,115.59 to complete the repair.




Mobile, AL 251-456-1993
/- Pensacola, FL  850-476-0277
Panama City, FL 850-769-4844 REMIT TO:
EQUIPMENT CO. Fresport, FL S Beard Equipment Company
Jacksonville, FL  904-296-5000 T et
Lake City, FL  386-752-9544 JOHN DEERE R ol ke S O
3195 W. Nine Mile Rd Palatka, FL  386-325-6268 Mobile, AL 36617
Pensacola, FL 32534 Tallahassee.FL 850-575-5600 , 800-848-8563 Fax 251-452-2309
ey HITACHI STIHL
850-476-0277 Perry, FL 850-584-9200 T T o e
Ocala, FL 352-732-4646 WWW. quipment.
PARTS QUOTATION
Invoice To Account No.: 100000144 [=] DeliverTo:
LANDFILL OPERATIONS LANDFILL OPERATIONS Date: 912212016
6495 CAROLINE ST., SUITE B g:;iR(?;I!R%'\II_?NE STSTEB Page: 101
MILTON FL 32570-4532
ML ON:ELodL  Mab Ph:
Work Ph: 850-981-7135
Supplied Back Order Part Part Bin List Net Extended
Quantity Quantity Number Description Loc Price Price Price
2.00 0 05280101 TAPER ROLLER BEARING 151019 151019  $3,020.38
6.00 0 06236712 SCRAPER AUPS 110-128-8 43.20 43.20 $259.20
18.00 0 07131225 HEXAGON BOLT DIN931-M12X60-10.9 2.42 242 $43.56
2.00 0 07142008 HEXAGON BOLT 1SO4017-M20X20-8.8-A4 6.55 6.55 $13.10
1.00 0 09151615 DOWEL PIN 1SO8752-16X50-ST-DAC500A 5.85 5.85 $5.85
4.00 0 09231270 SPRING RING 14.26 14.26 $57.04
2.00 0 57050302 SLEEVE 383.54 383.54 $767.08
2.00 0 57050304 FLANGED COVER 654.10 654.10  $1,308.20
2.00 0 09331178 SEALING RING 268 268 $5.36
22.00 0 57002174 BOLT AND WASHER 29.23 29.23 $643.06
2.00 0 57050429 BOLT 1,93850 193850  $3,877.00
10.00 0 07131657 HEXAGON BOLT ISO4014-M16X120-10.9~ 6.00 6.00 $60.00
4.00 0 07132067 HEXAGON BOLT ISO4014-M20X140-10.9+ 13.94 13.94 $55.76
Customer PO No.: Delivery Note: Sub Total: $10,115.59
Tax ExemptNo.:  67-05-009061-53C JEFF - #1134 QUOTE #2 Ll $0.00
Sal . JOHN BUTA Total: $10,115.59
GISSPSrSon; FIRJBUTALIEE Deposit Received: $0.00
Balance Due: $10,115.63
EXCLUDES TAX

There is a 15% Restocking Fee on Non-Stock Parts



Chavers Machine

5901 Pamela Dr.
Milton FL, 32503
(850)-981-1055

Reman. Central Block and Console Hinge Holes at Articulate Joint on Bomag Compacting Machine, SRC
County Number 2234,

Price: $6000.00

Point of Contact: Wren Lunsford (850) 384-9750



BC 772 RB-2

41 '1 1 Articulated Joint

S/N 101570431001 >

Page 1/ 1 Knickgelenk
Seite R "
Articulation

Articulacié d
BOMHG rticulacion de codo 5705000000008

1) Anziehdrehmoment 463 Nm
Tightening torque 463 Nm 6-———

2) Mit OKS 240 eingesetzt y E
Inserted with OKS 240 oy 57050000 000 08




BC 772 BRB-2

S/N 101570431001  »

41.11

Articulated Joint
Knickgelenk
Articulation
Articulacion de codo

57050000 1001 1

s 171

21
22
23
24

29

Partno. Qty.
Teilenr.
No.piece Qte.
05280101 2
06236712 6
07131225 18
07142008 2
09151615 1
09231270 4
57050302 2
57050304 2
57050202 1
09331178 2
57002174 22
57050429 2
57050431 1
57050430 1
07131657 10
57050432 1
07132067 4
57050442 1

Menge

Description

Taper roller bearing
Scraper
Hexagon bolt
Hexagon bolt
Dowel pin
Spring ring
Sleeve

Flanged cover
Console
Sealing ring
Bolt and washer
Bolt

Cover

Washer
Hexagon bolt
Central block
Hexagon bolt
Holder

Benennung

Kegelrolienlager
Schmutzabstreifer
Sechskantschraube
Sechskantschraube
Spannstift
Sprengring

Hilse
Flanschdeckel
Konsole

Dichtring

Schraube & Scheibe
Bolzen

Deckel

Scheibe
Sechskantschraube
Zentralblock
Sechskantschraube
Halter

Designation

Roulement & galets coniques
Segment racleur

Vis a téte hexagonale
Vis a téte hexagonale
Goupille de serrage
Jonc

Douille

Couvercle a bride
Console

Bague d'étanchéite

Vis et écrou

Axe

Couvercle

Disque

Vis a téte hexagonale
Bloc d’articulation cent.
Vis a téte hexagonale
Support




